Add two 4-digit numbers —more than one exchange

Fluency & precision

Choose which set you feel you are able to complete. If in doubt, begin at 1 star and
progress across. Complete the calculations in your book.
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4,346 + 2,313 =

1,222 + 2195 =

6,349 + 2,111 =

7,283 +1,222 =

3,425 +2,191 =

5,235+1,928 =

2,642 + 2,627 =

834 + 9,256 =

3,205 + 3,805 =

4,194 + 97 =

17,346 + 2,928 =

847 + 2,968 =

18,403 + 13,918 =

4,449 + 995 =

6,729 + 6,382 =
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Add two 4-digit numbers — more than one exchange Fluency & precision

Answers
DA ATAS DAPAPAS
4,346 + 2,313 = 6,659 5,235+1,928 =7,163 17,346 + 2,928 = 20,274
1,222 +2195=3,417 2,642 + 2,627 = 5,269 847 + 2,968 = 3,815
6,349 + 2,111 = 8,460 834 + 9,256 = 10,090 18,403 + 13,918 = 32,321
7,283 + 1,222 = 8,505 3,205 + 3,805 =7,010 4,449 + 995 =5,444
3,425+ 2,191 =5,616 4,194 +97 =4,291 6,729 + 6,382 =13,111
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